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octave:1> L=[1,0,0:;8,1,8;4,9/2,1]
L=
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octave:2> U=[1,-2,4;6,2,1;9,0,-37/2]

U=
1.60880 -2.0000 4.8000
8 2.8088 1.8888
8 8 -18.5888
octave:3> L*U
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octave:1> L=[1,06,06:1,1,0;:1,0,1]

L =

1 & @

1 1 @

1 B 1
octave:2> b=[2;0;2]
h =

2

L]

2
octave:3> c=L\b
E_i
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octave:d> U=[2,4,4:0,1,2;0.0,1]
U=

2 4 4

a 1 2
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8
-1.0000
3.6667
8

2.00080
-2.0000
8.3333
1.6364

octave:2- L=[1,0,0,0;1/2,1,0,08;6,-1/3,1,8;1/2,-2/3,1/11,1]

Ul
4.0008 2.0808
8 3.0080
a a
] :]
L=
1.8680 ]
8.5688 1.8086
a8 -8,3333
a.5680 -0.6667
octave:3> L*U
ans =
4.0080  2.0080
2.0089 4.0080
8 -1.0080
2.0080 -1.6080

-1.0000
4.0000
1.0000

2.0000
-1.080088
1.0800
4.0000



